/DVIRB

*UXSD 5R]NiDG 30 32=5/7 7\J
7™ 7™
o4 3UDFD ] URG]IQa iZ GU = DW]IDIN XPLHICIQRGFL
KDE SURI QDG]Z .UDVIHINR ,JDEHID = Z\FKRZDZF]\FK IDE Gy %DQDVLDN
30 32-5& $QQD = 30 325/
7™
= \QIHUZHQFID NAJ\VRZD iZ GU
-DQXVIHZVND (G\ID = 30
32=5&
7™ 7™
6HPLQDUXP 3UDFD ] URG]IQa Z GU KDE SURI QDG]Z
PDJVIHWNH 30 _UDVIHINR ,JDEHID = 30
a 32=5 - 32=58&
Q
g 7N
T
GHPLQDUXP
PDJVIHINH GU &]HUZ
ORQND 30 -
30 32=5:
7™
3UDFD ] HPRFIDPL RUD]
NRQIURID JDFKRZDE iZ
GU AXNDVIN %HDID =
30 325/
=
T
§ 7\6]
N 3UDFD ]
= HPRFIDP!
w RUD]
NRQIRID _
1DFKRZDE
iz G
AXNDVIN
%HDID =
30
32=5
/
_ 7™ 7™
M 7RNVANRPDQID Z  SURI QDG]Z . DIHID 7RNVANRPDQID i1Z SURI QDG]Z . DIHID
oDliQ = 30 32=5: oDliQ = 30 32-5&
o
©
3




